Vectors
Homework 16

1.  R divides 
[image: image16.png]


 in the ratio 3:2. Find the coordinates of R given that the coordinates 

     of 
[image: image2.wmf]E

and 
[image: image3.wmf]F

are (5, 0, 10) and (0, 10, -5) respectively.
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2.  In this diagram 
[image: image4.wmf]u

=

AB

and 
[image: image5.wmf]v

=

DA
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[image: image6.wmf]AB

DC

2

=

, and 
[image: image7.wmf]DC

is parallel to
[image: image8.wmf]AB

.

     Write down, in terms of u and v, the vectors:

     (a) 
[image: image9.wmf]DC

 (b) 
[image: image10.wmf]BC

  (c) 
[image: image11.wmf]BM

  (d) 
[image: image12.wmf]DM













(5)
3.  A(1,3,-2), B(5,4,1) and C(-2,6,3) are vertices of a parallelogram ABCD.

     Find the coordinates of the point D.












(3)
4.  A, B, and C are the points (3, -4, 4), (5, 2, 0) and (8, 11, -6) respectively. Show that
     A, B and C are collinear and find the ratio in which C divides AB.












(5)

5.  Find the value of k if 
[image: image13.wmf])
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is a factor of 
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6.  Evaluate 
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